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A KR R(Tg9)=6T 38K R (Tgs)=6TC
Sqg=1; Sqs=1 Sqg=1; Sqs=1.5

FERAY% | Pl | 2R % | 7 RER(Ty)C | #KERTIC | E-kE()% | FRKER(TIT | E-kE(Q)%
S 1 25 7.2 6.9 75 7.0 125.0

10 1 25 8.4 7.8 75 8.0 125.0

15 1 25 9.6 8.7 75 9.0 125.0

20 1 25 10.8 9.6 75 10.0 125.0

25 1 25 12.0 105 75 11.0 125.0

30 2 50 9.6 7.8 50 8.4 100.0

35 2 50 10.2 8.1 50 8.8 100.0

40 2 50 10.8 8.4 50 9.2 100.0

45 2 50 114 8.7 50 9.6 100.0

50 2 50 12.0 9.0 50 10.0 100.0

55 3 75 104 7.1 25 8.2 75.0

60 3 75 10.8 1.2 25 8.4 75.0

65 3 75 11.2 7.3 25 8.6 75.0

70 3 75 116 74 25 8.8 75.0
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qg=1; Sgs=1 Sqo=1; Sgs=1.5

FEF A% | B ok | A BB F% | ¥ kER(T)C | - KERTIC | #kE()% | E-KER(TIC | E-KkE(A)%
75 3 75 12.0 75 25 9.0 75.0

80 4 100 10.8 6.0 0 7.6 50.0

85 4 100 111 6.0 0 1.7 50.0

90 4 100 114 6.0 0 7.8 50.0

95 4 100 11.7 6.0 0 - -

100 4 100 12.0 6.0 0 - -
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O ¢ ¥ (Terminal unit))2 ON-OFF mode i®

25 L/s 75 L/s T 12°C

A
50 L/sé % 50 L/s 12
0 ‘E
12°C | 5
=
Chiller | | Chiller & 81 5
25 L/s A Load Load #* #* E
50% 100% A =
o
6 °C X 6 °C 75 L/s
ON-OFF
B mode
6 °C

(=

R f e S RRES

5% > /5L/s ¢°



\

3 F2 3

P~ -
50 L/s 100 L/s A T7,=12°C
< <]
P =75% i
S0 L/s S50 L/s @
10.5°C 10.5°C A =
-
Chiller Chiller & 5 g
Load Load A o 7 =
75% 75% ~
o
6 °C 6 °C qs =TS L/s
: @ ON-OFF
B mode
T,=6°C
S F LY P R KRR E=T5% » 75L/s 67



£ psmra 5 R (Modulating Valve)# ®

A OL/s 50L/s
—r—D<]
P=80(y0 i

50 L/s@ @ 50 L/s A

5
*

Chiller Chiller
50 L/ S ﬂ Load Load
0% 100%

&
#
X qs =50 L/s % %
Modulating
B Valve

Terminal Units

AEaiPrtrs 8- piE=80% 50L/s ©



fA R b

A

25 L/s 75 L/s

50 L/s
9.6 °C

S50 L/s

%14 8 °C

Chiller
25 L/ S ﬂ Load
60%

Chiller
Load
100%

R (Modulating Valve)#k it

T =14.8 °C

P=80%

& -
#* #*

Terminal Units

6 °C * 8.8 °C qs =15 L/s% %
= @ Modulating

Valve

T,=8°C

(=4

%‘é_j_ﬁl;F%g.,éi\.b;

=X 1R o

£ =80% » /5L/s
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po 3=t b i (Modulating Valve)#k i®

SOL/s 100 L/s A T,=15.6 °C
—D<]
P =80%
S0 L/s S0 L/s @
10.8 °C 10.8 °C =
-
Chiller | | Chiller S0 L/s 2 8| S
Load Load 6 °C K #* =
80% 80% | 5
o
6 °C 6 °C ¢, =50 L/s
._@ Modulating
B Valve
T,=6°C
, ke 2 sy = 70
P At B fPFE - RIE=80%50L/s



§ ;% in (Distribution in overflow)

100 L/s 150 L/s T =11.4 °C

A
P 90%
50 L/s S50 L/s @
0 0 E
11.4°C 11.4°C 5
=
Chiller | | Chiller & 81 =
S0L/sy Load Load # £ =
90% 90% =
=
Fully Open

T,=7.8°C
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gi il s~ (Distribution in over flow)

S0 L/s 100 L/s = T,=114°C

<]
P =90%
50 L/s 50 L/s
11.4 °C 11.4 °C

BEETR

Chiller Chiller 50 L/s #
Load Load Y 11.4 OC k7
90% 90%

6 °C 6 °C qs =150 L/s
B
T,=7.8 °C

Terminal Units

P fd B0 f 4 RIE 50%
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8 BI(= = RDE

A 0 L/s 100 L/s T =15.74°C
P S0%
100 L/s
SO LS 15.74 °C
A Chiller | | Chiller 5 5
Load Load * £
0% 100% :
12.74
X § = 100 L/s
B
= 12 74 °C

Terminal Units
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50L/s 150 L/s A T,=12.6 °C
= <]
P =90%
50 L/s 100 L/s
10.8 °C 10.8 °C
Chiller Chiller A S0L/s g #
Load Load 7.2 OC k7 k7
80% 100% A
6 °C $ 7.8 °C$ qs =100 L/s
B @
T,=7.2°C
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